Agriculture Name @”
Chemical Applications Worksheet i ﬂ
1. The third number on a fertilizer 1abel is the percentage by weight of:
A, nitrogen in the product
B. nitrate in the product
E C. phosphorous in the product
D. ammonium in the product

@ potash in the product

2. A ten-pound bag of 12-4-8 contains:
A 12 pounds of clemental nitrogen
B. -4 pounds of P»0s (phosphorous) equivalent
E— C. 8 pounds of K0 (potash) equivalent
— D. 1.2 pounds of elemental nitrogen
both b and d

3. A 125-acre field that will be planted in corn nceds Iﬁﬁ-l ga-ldoounits of fertilizer per acre. The

required fertilizer was obtained in butk, urea 46-0-0, DAP 18-46-0, and muriate of potash 0-0-60.
"~ a. How many pounds per acrc of urea, DAP, and potash arc needed?

b. How many total pounds of fertilizer are needed per acre?

¢. How many tons of fertilizer are needed for the field?
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4. A farmer wheat grower has 148 acres of wheat to top-dress with 60-0-0 units of nitrogen using
liquid nitrogen 28-0-0. Liquid nitrogen weighs 10.67 pounds per gallon.
a. Ilow many pounds ?Df lléll.ud nitrogen were applied per acre?

b, How many total of liquid nitrogen were dpplled‘-"
¢. How many tons were used? S
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5. A farmer applied 60-60-90 units of fertilizer per acre to 180 acres of soybeans, using 46-0-0 urea at
$567 per ton, 18-46-0 DAP at $675 per ton, and 0-0-60 muriate of potash at $630 per ton.

a. How many pounds per acre of buik fertilizer were applied?

b. How many tons were uscd?

¢. What was the total cost of the fertilizer?
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6. Urea ammonium nitrate (UAN) solution (32-0-0) has cost an average $497 per ton. UAN has a[‘ﬂ. QO, ‘{8‘{ G0
density of 11.06 b per gallon at 68°F. What is the cost per pound of N? How many pallons is a ton of

TJAN?
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7. Brad has 250 acres he spraycd with an herbicide. Ile used 1 quart of herbicide in 9.75 gallons

of water per acre. Brad checked the sprayer manual to determine that 28 fluid ounces of liguid comes
out of one nozzle per minute. The sprayer is a 60-foot boom sprayer with nozzles 20 inches apart that

holds 300 gallons.,

a. How many gallons of liquid were used per acre?

b. Al what speed did Brad drive to apply the proper amount of spray?

¢. How many gallons of watcr r were needed? .
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8. Answer the following questions using the following information:
*  Your sprayer holds 50 gallons of spray material.
* The trcatment arca is 2 acres (43,560 sq ft = 1 acre) in size.
* The label rate for the pesticide is 4 ounces per 1,000 square feet.
* The application rate of the spray solution is 2 gallons per 1,000 square {cet.

[Tow many total gallons of spray material will be needed 1o cover this arca?

a.

b. How many total gallons of the pesticide will be used?

c. How many tanks will it take to complete this job using the outputs given above?
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9. Potatoes prefer a pil of 4.8 - 5.4 and require lime or alum to be applied to adjust the pH. A potato
farmer had a pH test reading of 4.0 and wants to add lime to a 125-acre field and the rate of application
is 82.5 pounds per 1000 square feet. How many tons of lime will the farmer need to order?
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10. Tomatoes prefer a pH of 6.0 — 7.0 and require lime or alum to be applied to adjust the pH. A
gardener had a pH test reading of 5.0 and wants to add lime to a 1/4-acre garden and the rate of
application is 110 pounds per 1000 square feet. How many tons of lime will the farmer nced to order?
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15. A chemist has a solution which is 75% acid and another which is 30% acid solution. How
many pounds ol each solution should be used to produce 36 pounds of a 55% acid solution?
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